Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheita* g+, b*rgpx
System: HG95_HRS16_96_D65_00%_O0cx, .. =max (rgb*) ~ min (rgb)
5,55, o 2o | L= MaKf=1
ab,d=[33, 99, 153, 224, 297, b* by

haber(26, 92, 162, 217, 272, 3257 11| 907 WH=min (rgb*)=1 -d*

hap, (26, 92, 162, 217, 272, 3380G  JOOG rabs=W* * 0.5C g+

E a%1gpr=C"rgp+ €OS hy

1% rgh+ =C*1gp+ SIN hap

relative Buntheit
a* g+




Beziehungrgb* und relative Buntheit c*,gp+ oder Buntheit a* g+, b*rgpx
System: HG95_HRS16_86_DB5_00%_ Olex . ~max (1gb*) - min (rgh*)
Ergebnis: C*rgb* =CHlab*s ¥ rgb =t jab* i 9 ~ max fgb¥)=1 —i*

N =(33, 99, 153, 224, 297, 346] e .

haber-[26, 92, 162, 217, 272, 3247 | 90 WH=min (rgb*)=1 -d*

hap (26, 92, 162, 217, 272, 329100G, J00G rabs=W* * 0.5C g+

a%1gpr=C"rg+ €OS hpy
¥i* gt =C*rgp+ SIN hap

relative Buntheit
a* g+




